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QUESTION 1

What would you use to balance traffic loads between servers in a Clos Layer 3 data center fabric?
A. MC-LAG

B. multicast protocols

C. ECMP routing

D. BGP export policies

Correct Answer: C

QUESTION 2

You are designing an IP fabric using IBGP as your underlay.

In this scenario, which statement is correct?

A. Confederations are not allowed in an IBGP IP traffic.

B. Route reflectors should be implemented on your spine devices.
C. IBGP ensures that traffic will be load balanced by default.

D. You must ensure that you have a full mesh with all devices.

Correct Answer: B

QUESTION 3
Click the Exhibit button.

Traffic congestion has been noticed when S1 is sending traffic to S2. You must design a CoS deployment to address
the traffic congestion issue. Referring to the exhibit, which statement is true?
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A. You should deploy CoS on R1 and R4.

B. You should deploy CoS on R1, R3 and R4.

C. You should deploy CoS on S1, R1, R2, R3, R4, and S2.
D. You should deploy CoS on R1, R2, R3, and R4.

Correct Answer: D

QUESTION 4

What are two industry-standard high availability features used in data centers? (Choose two.)
A. IPFIX

B. separation of control and forwarding planes

C. graceful restart

D. Bidirectional Forwarding Detection

Correct Answer: BD

QUESTION 5
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What are two requirements for a VXLAN tunnel endpoint (VTEP)? (Choose two.)
A. TCP session tracking

B. MAC address learning

C. IGMP filtering

D. IP address learning of interested VTEPs

Correct Answer: BD
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